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Sidlaysnra : (1) oioass edemssesd sllurs uHaurd 2 dTaTeT eratLgmen FfUMTSSIS

Instructions :

@Oy : (i)
(i)
Note : (i)
(i)

Qarerarayib. @FsrILSefe Gopuimlder siomns sarsrafliurearilLLd
o L angwrsd Csflellésew.

2) Beod oeg SHUL ewulaar ol BCWw ergusHEGU LweaTUHSS
Cauam@. ULBEE aueraushEn, SlgsCaryBeaugh@b Queéla
LweTU(HSSHeLD.

(1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and peﬁcil to draw diagrams.

U@ - 1/ PART -1
NS NlaTsEsEn&EEL elenLwefl&sa . 15x1=15

Qaer@asaslulperer mrem@ wrHm eleLsalled Wsa|d gHLemiw
AerLaows CsrpsMsss GHULGLa ol ulmaryb Csirssy
GT(LPSA|LD. ‘ :

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. Qauefll@fmpsn @Qpé@od Qeuuiu®bd @remsear LHML Freaurhsemer LS
GUEGU LPSELLOESIUF) :

(=1) Carpos®dEs0 (3)) BHOTESLD

(@) SINpsiu@sgse () seouQer aiflwid

Importing better varieties and plants from outside and acclimatising them to local environment
is called :

(@) Selection (b) Cloning

(¢) Introduction (d) Heterosis

2. X ergb smeurd Sl wer, @Gl Welsw, spe GeneniiLjen &THSLIL
Qaram@erers. @uwwaflar wErHss CarsmasE srsdunrer (PeaT gl ?
(1) ulLmbyFs () B (@) eugmBaer (/) &THD
A plant called ‘X’ possesses small flower with reduced perianth and versatile anther. The
probable agent for pollination would be :

(a) Dutterfly (b) water (c) TDbeetles (d) air

3. TiWermevfl erhg urdefwusHe sremriiu@ang ?
(=) 2 TSCrmumrSLT m’iquien
(=) FF Camened |
(@) Cuilorawsn amwGaradlsw,Cusismen
() &6Crrursle b guliGuHweren
The bacteria, which possess Ti plasmid is :
(a) Arthrobacter luteus
(b) E.coli
(c) Bacillus amyloliquefaciens

(d) Agrobacterium tumifaciens

4. cnGwfenev @amqsreden AplidL b :

(=) Ogen 2 ClnflsaT, fifev (=) PU9MNEs Qeuliuamm el LGS
(@) @bglur wL B0 (r) QaemafibHwr, 1§ T
Tamarindus indica is indigenous to :

(@) South America, Greece (b) Tropical African region

(c) India alone (d) South India, Sri Lanka
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o goLss @ (Qrevifgsoen) Qprsaflarme DNA -aflen Gemeumb erpg @b
warlber @&5 (Lrelwrar_Grmp) Qgrifeuflasliar amwwidad aafizrs
g SEmg ?
() 5 GAATTC 3 3’ CTTAAG 5 ()5 CGTTCG 3 3 ATCGTA 5

(@) 5 CACGTA 3 3 CTCAGT 5 () 5 GATATG3 3 CTACTA 5

Which one of the following palindromic base sequence in DNA can be easily cut at about the
middle by some particular restriction enzymes ?

(@) 5 GAATTC3 3 CITAAGS5 (b) 5 CGTTCG 3
() 5 CACGTA 3 3 CTCAGT5 (d) 5 GATATG 3

3 ATCGTA &%
3 CTACTA 5

AW 2 0ASmhg o (heurargb, euemissLiLL L gorar @Gy sraflwb

(=1) gflg&sDd b (=,) @enyar FlanLoum

(&) gur Cowev | () 19l 19&8b erevigeaulb

The only cereal that has originated and domesticated from the New World.
(a) Triticum duram (b) Oryza sativa

(c) Zea mays (d) Triticum aestivum

OAUTEN DM STEUFTRIGET -6 @\(HE 2 (HalTssUL B Sl emmer.
(1) yCGrrlGLmerms eueriiiy (<) e miliL] euaTiliy

(@) Qsev Wgeneu euemiiLy (FF) &GS eueriiLy
Virus free plants are developed from :
(a) Protoplast culture (b)  Organ culture

(c) Cell Suspension culture (d) Meristem culture

“Galblser eruGumpgId seoliLuiisearts GBLLADm” TEID DY TSI 6T
Qaryenwg ?

(1) seilggin Gfigd o948 () @i &g

(8) @eowdars shajpse o () smmnlad estEss N4

“Gametes are never hybrid”. This statement is associated with the :

(a) Law of segregation (b) Law of dominance
(c) Law of random fertilization (d) Law of independent assortment

greuyiigaiien efléGardamass LHGWL LwaTUSSUILED Gfw qafl sieray :

(<4) 3-10% (24)2 - 8% (@) 2-9% (/F) 2-10%
Solar energy used by green plants for photosynthesis is only :
(@) 3-10% (b) 2-8% () 2-9% (d) 2-10%
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10. &pse eTps wemenilen Bir sreurhisErdE@GU LwWaLBE DS ?

(1) mewyeny B (<) yeduiiy B

(®) mruug Bi () GaufuQwedr Gepawriay Hir
Which one of the following soil water is available for plants ?

(a) Capillary Water (b) Gravitational Water

(c) Hygroscopic Wat.er (d) Chemically bound Water

11, ulgwed - I g uliquied - IT 2.1 at QurpSss.
UL 1quieD - I L igureo - II
(1) QowyussLer e Glenemt () CGurGamGsr
&CrrGwrGsmbaer iflswrs sramliupeug
(2 GmwyusgLer m &CrmGurCard i) QLlprGemLbl
DFHBWrs SrewriLhHeug ,
B) Qmwywusdéd em GCrmCwrCGsemb (i) LenpCamdl
- GoDpauns sreeruu(bheug
(4) @mwywusdHdmbg QraT® Safldsei (iv) @rievL GurGarmGsmil
&CrrGurGsmd Gepeurs a;rrecr&nhu@a_lgj
(=1) (W)-(), (2)-(iid), (3)-), (4)-(iv)
(<) (1)-0), (-i), (3)-Gi), (4)-Gv)
() (V)-(i), (2)-(i), 3)-(), 4)-(v)
(/) ()-(i), (-G, 3)-(v), (4)-()
Match List - T with List - II

List - I List - II
(1) A pair of chromosomes extra with diploid (i) monosomy
(2) One chromosome extra to the diploid (i) tetrasomy
(3) One chromosome loses from diploid (i) trisomy

(4) Two individual chromosomes loses from diploid  (iv) double monosomy
@  (1)-(ii), (2)-(iii), (3)-(), 4)-(v)
®)  ()-@), (2)-(ii), 3)-(ii). (4)-(v)
(€)  ()-(iid), (2)-(ii), (3)-(), (4)-(iv)
(d)  (1)-Gi), (2)-(iid), (3)-(v), (4)-()
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sflwrs QurmbHu @everaws Cara; Qs
(=) vlLPogsam® - Blyyer

() Hpii@ - Si@edwib liur

(@) Geaurel®Bbd @O - Slenglle QL

(F) seorsdp 2 pHFE - et
Identify the correctly matched pair :

(@) Rhizome - Musa

(b)  Tuber - Allium cepa

() Stolon - Zingiber

(d) Sucker - Pistia

Qsr_&a GMwer eremug) :

(1) AUG (<) UUU (@) UAG () UGA
Initiation codon is :
(@) AUG (b) UUU () UAG (d UGA

Ogenr <AQufssreleamhs @bpswrele c9{g5](g35;uu®§§,uu1_|_ < SE Ty
Smled :

(=1) urrgSafiwib : (<=4) Qa)smrn_rrsmrr
(@) suum.enugEen (/r) yGrmrerinQen
The invasive species introduced in India from South America :
(a) Parthenium (b) Lantana

() Kappaphycus (d) Prosopis

WleeumeuaTeudmIeT 6Tg Uednl_(H urybuflugdne e grramor@hd ?
(=1) Gari i ulLraflulen allengsssafludier auigeuld

(<) BlgmYeiev georumr wefler Blmib

(@) wallsigafler Cemed Hlpio

(F) e Csal 2 pusd

Which one of the following is an example of polygenic inheritance ?

(@) Pod shape in Garden Pea

(b) Flower colour in Mirabilis jalapa

(c) Skin colour in humans

(d) Production of male honey bee
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u@)sﬁ - II/PART - 11
@Y : eremeuGuignid Km elanmaasEns@ WG eflewallésab. eilarT erar 24 -&s,
sLLmuwns sleaflésa)b. 6x2=12
Note: Answer any six questions. Question No. 24 is Compulsory.
16. Qumi graflwb erempred erenat ? TOHHESTLE HMHs.
What is pseudo cereal ? Give an example.

17. “wpgiwry BLA” - cuemyumdsa.
Define - ”Atavism”.

18. TATA Guenip erenpmed erevmem ?
What is TATA Box ?

19. smeym upd BeT wiPleug wirg ?
What do you mean by embryoids ?

20. eflengll upSenar ereueurm swmfiumi ?
How will you prepare seed ball ?

21. o emteyF SISl ETEIMTE) TEaT ?
What is food chain ?

22. CETET FHIMET GTEIDTE TG ?
What is Ozone hole ?

23. “Gumrengmi” — eueFLMISSQ|LD.
Define ‘Bonsai’.

24. smlUeruufen UL auenphg UTSD GH&ESaLD.
Draw and label the structure of embryo sac.

u@d) - 111/ PART - III
GOILY : ereneuCuenib LM ilemEsEnsE WG elmwealésayib. elenr erar 33 -85
sLLnuwns e well&say. 6x3=18
Note : Answer any six questions. Question No. 33 is Compulsory.
25. @l {Bs0 wHmb UHuld Caupubsss.
Differentiate grafting and layering.

26. QgmiiEflurer GugurGsmer Asrisdlupy Caupur@sesiedr Caunu@sss.

Differentiate continuous variation with discontinuous variation.
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27. Qevanriiy wpmid GOIECHHDEHDG @mz_(ﬁwyrrem CoumirHEHEnET 6r(LHg)s.

Write the differences between linkage and Crossing over.
28. ouif QamPlopueNuaer LweLTHSET gCGaaD ependlena 6T (WHgIs.

Mention any three applications of Bio-technology.
29. Qsd Wsemeu aueniliyy Hevauler o erer LGy Uigflavsemer 6T(pFis.

Write the various steps involved in cell suspension culture.
30. <@EGLT eflenarey GrelIDIE) eretien ? <BiG6 GllanETESHENET 6T (LPSIE.

What is Albedo effect ? Write its effects.
31. UG waTLsH 2 hHusdHdpar Gompaurs QMHEESLD. e ?

Productivity of profundal zone will be low. Why ?
32. amiuer seurliu(Bger wHmb Ceasfgge (CCS) erammire eremer ?

What is Carbon Capture and Storage (CCS) ?
33. usoL Qe amyssaler sriy Lkl ULSSamar cumrs.

Draw the chart of Relative Contribution of green house gases.

- u@dl - IV/PART - IV
GOy : Simedgl famssErsEl clamL weflssa,b. 5x5=25
Note : Answer all the questions.
34. (=) ppdibs warpglienLler GnéE el (s CamHpsamns UL uarhHg UTED
GM&&aLD.

SV
(<2,) Qurgleurs waflgailsn GFuOLTHSET G war wsdnE rdrmaGeu o drerg).
Q@ LTETeURITS b GanaTLe urgsribdbE ereaueurn 2 sajeumi ?
(@) Draw and label the structure of T.S. of mature anther.
‘ OR

(b) Generally human activities are against the ecosystem. As a student how will you
help to protect ecosystem.

4 : N o £ I [(@@'L'Jqés/Tumover
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(<21) appemowihp GhIGH Beenoewl G o HggisaTLHLen efleufldsab.
D] 060G
(<) @uanmb Hever cuariaflens wipp QurEHLaailer grour epaksamenuid 2iper
LGS ATILILD <DL 6uen eI LI SIS,
(a)  Explain Incomplete Dominance with an example,
OR

(b)  Tabulate Secondary metabolites and its plant resources with uses.

(1) @mured werg grarmisaiad urd Hiremub ereueury SrwrealsstiuBsng ?
<2 fed LB CUDID WILENGSE®ET 6T(LHSIs.
SI00G
(<4) wrugy wrPPULLL 2 aweller (GMF) BenenlogeT DM SUNMURISET Wrened ?
(a) How sex is determined in monoecious plants ? Write their genes involved in it.
OR
(b) Write the benefits and risks of Genetically Modified Foods.

(=1) Cauermesmam(h eueTiliber meenngEenaTis L i iadl(his.
3|6060G)
(<) BF LpDTEGOD STene BCOTHAZH 2B HeTenlbEMmeT edlemdEsHayL.
(a) List out the benefits of agro forestry.
OK

(b) Suggest a solution to water crisis and explain its advantages.

(=) seoliypss wenler LGy amssmar laréEs.
AN
(=) 26 S(Bs CariLsdnarer Qupes LiflsCsradiamw, afligaidrer
smusflasemer Lwa@sS ereucurm swirfliiumd ?
(a) What are the different types of hybridization ? Explain.

OR

(b) How will you prepare an organic pesticide for your home garden with the vegetables
available from your kitchen ? ‘
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